CITIZENSHIP
CLASS TEST

1. Single citizenship is Sourced taken from which country?

a. USA b. Canada c. Britain d. Japan
ObFHwraled BB GHuiflend 6bd BT Y6l Hha 61(heSBILL L HI?
a. USA b. &L C. LML Lot d. egtimest

2. Double citizenship exists in
a. USA b. China c. Japan d. Australia
‘@il @uulflen’ sTeorlILBL HT(H
a. 9|0wfésr b. der C. glILITeHr d. eevdGreduwir

3. Which is the main component of state that determines citizenship status.

a. Territory ~ b. Government c. Sovereignty d. Population
SlpaHLmeUSH6TL  61&  DFlevieien  GldSeNeT HGHHmwl HiTemuleHGd  (PpdHalul
STJeIWLTS SHBIILGSBSHI?

a. Beotiugiiny b, SammIBD c. Bopwiresiontd d. 1D&HHMOHTEND

4. Who Defined Citizenship as “He who has the power to take part in the
deliberative or judicial administration of any state
a. Plato b. Aristotle c. Marshall d. Socrates
Glwflenwenwl  “elhHOeuT(h MBS B BHiTamssHmsd oUCeondlbdad WLBHID
9IFHev LURBHBHAID DIFHSTID © ML WeUT’ 61Tl 6UeNTUIBISHSHUT WITT?

a. Wenm GLm  b. gyflerdLm 196D C. OTTOOP60 d. gndyesd
5.  Who is called first citizen of India?

a. President b. Prime Minister

c. Chief Minister d. Chief Justice of India

OhHwmaler (LPpHe0 GQLDSHITS SH(HBUILGUGUT wiImT?

a. GPUTFHHHEN606IT b. Wgsior

C. (IpHE DIMIDFFT d. @bHw Hmevenid B

6. Commonwealth citizenship provided by the citizenship Act (1955) was repealed
by
a. Citizenship (amendment) Act 2005  b. Citizenship (Amendment) Act 2003

c. Citizenship (Amendment) Act 2013 d. citizenship (Amendment) Act 2015
(BTOTO6U60E)  OuTghid  Gwflewd 1955 ouewih  Guuflennd gl GHFHer &S
CaThSHSLILLL FI. SPEOBTHHHI6TEN 61hH FLLSH HHIHHHIHT Lg DiH BHHSUILLL H?
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a. @ouflenwd gL Hmsbsd wWEFTHT 2005

b. euuimws FiLdh Hmbs wWEFTHT 2003
c. ®uuflenod FU LS HmeHs wWCFTHT 2013
d. euuiemws FiLdh Hmss weatsHT 2015

ACQUISITION OF CITIZENSHIP

7. Which of following is competent to prescribe conditions for acquiring
citizenship in India?
a. Home minister of India b. Parliament
c. President d. state Legislature
Aphaw Gujflenweaul CUBIISBHTET HiLbHHmensemen LMbHHImn]HD
HGIWTZ SFTI?

a. @hFHU 2 6THmB DIMIDFFT b. umyTEHLOGTBID
C. GPUWITHSHBHEMEOGUT d. wmBlev FU L 106D
8.  Which of following is not a condition for becoming citizen of India?
a. Birth b. Descent
c. Acquiring Property d. Naturalisation
RH BhHUS GYLIDTS DYMSBE SLDHHEMIL AUBBIGT 615 DeUFUILDTETH6060?
a. LImrIL b. umybuflunb

C. Qamdha ambiGausng  d. eubgmeusiulent, Geaumibm 960 LIBHSHTEID GLBEOTLD

9. To acquire citizenship by registration, a person must have been resident in India
for how many years immediately before making an application.
a. Two years b. Four years  c.sevenyears d.one years
uFHe] OGFuimded  epeootd  Gwfleww  OUBIISBG, @G  BUT  GluflenodE
alewienilNS@GID (Pl eIHHemenr  SLewihHeT  @bhHwmeled uFlHH b (HES
Gouewr(hd?
a. 2 SLet(Hb6i b. 4 syemiEet c. 7 syemipoet  d. 1 ewiB

10. Consider following statement and choose correct statement
Assertion (A) : When Pondicherry become a part of India in 1962, People living
there became Indian citizens
Reason (R) : It was done by one of the Provisions of Citizenship Act, 1955 by
incorporation of territory
a. Both (A) and (R) are correct and (R) is the correct explanation to (A).
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A).
c. (A) is True, (R) is false
d. (A) is false, (R) is true.
slpaumeuateuBmIel FhwmeaialmLemuld GxiTey GEFuiuieb
aBupl (A): 1962 60 uremgdCafl, @bFHwmelsr @f SmsoTs Ser CUIFH, DG
&HH6IT AbHUWS Gloujflend GUBMBETT.
smewid (R): @m UrGsab Gamesli@GOUTEH SIbdseT 1955 oLem(B SuiBmpriur L
FLLSFH&T lgliienl_uled @lpuyfleno GumieuiT

a. (A) wppd (R) sf Goweid (R), (A) &@ sfwrer elendsid
b. (A) wBpd (R) s guemsd (R), (A)deg siwner alendsd Siedsv
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c. (A) sfl spemmed (R) seum
d. (A) seoup spemed (R) &
11. Consider the following statement
Assertion (A): Women who have been married to an Indian citizens can acquire
Indian citizenship by means of Registration.
Reason (R): Citizenship Act was enacted in the year 1956 by Indian Parliament.
a. Both (A) and (R) are true, (R) is the correct explanation of (A)
b. Both (A) and (R) are true, (R) is not the correct explanation of (A)
c. (A) is true, (R) is false
d. (A) is false, (R) is true
aBoI(A): @b GuLssmeTs Hmwewid QFUgH  OsTawiL  GuemseT LHe|
CFUIUSHT cpeuDTE @bHFHWdH Glpuflenenulll GILIBeOTLD.
smyewid  (R):  @bdHw  BILTEbLamSHd 19560  uewih  Glujfienws  FLLLb
BlenpGeauBmLILIL L Sl.
a. #BuI(A) wBpid smewd (R) Sremibd o aviewown@d, sBBBE (A) sryewid
(R) ereiugy gilwimer eflendaLom@Lb.
b. saBmI(A) wBpd styewid (R) Syeui(d o evienown@d, sEBBing(A) smewn (R)
alatLigl Filwimer alendaLoe060
c. aaBpl (A) 2 eawienwwn@gd smyeuid (R) seupmegLd
d. sapm (A) seuprebd, smyeod (R) o aenowimgLd

Loss of Citizenship

12. Indian Citizenship of a person can be terminated if
1. A person voluntarily acquires the citizenship of some other country.
2. A person who has become a citizen through registration.
3. The Government of India is satisfied that citizenship was obtained by fraud.
4. A citizen by birth, indulges in trade with an enemy country during war.
a.1and 2 are correct b. 1 and 3 are correct
c.1, 3, 4 are correct d. 1, 2, 3 are correct

RH BOhHWS GYEaiaT GQUIflend BIDEEHEMIL (IHITEL (PYaHE 6I(HBBIH.

1. @meauT Gouml BT (s Gluflewwenw Gumib CuTg)

2. uFle) OFUILIOISHET cLPEVLD

3. seupmer Guwrgy eufdelled @HauT  Guiflentdo QUBBTT 6I@IWI  DIFF  HIHBHID

Gumg
4. Guriler Gurg a1 BT LD AbHHUI GHQWH6T alewllsd GFwiuyb Gumg
a.1l wppd 2 &1 b.1 wBpd 3 & c.1,3,4 & d.1,2,3 &

NRI & PIO & OCI

13. Consider statement and choose correct option
Assertion (A): Pravasi Bharatiya Divas is celebrated on 9t January once in every
two years to mark contribution of overseas, India community in
development of India.
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14.

15.

(APP€ L]

Reason (R): The day commemorates arrival of Mahatma Gandhi in India from
South Africa.

a. Both (A) and (R) are correct and (R) is the correct explanation to (A).

b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)

c. (A) is True, (R) is false

d. (A) is false, (R) is true.

gaBm (A) : QeuelBTG eump @bHwiseler, HTWI BTG euenTFdosmer LnisefliemL

GumBmIb alpoTH, BTN eWIHBEHDHE @(HILPOB Mesieufl 9D HI6T,
Ceuelipm® eump G@hsHwiTseien Herors DieFfoHsiLBGSBSI.

amyenid  (R):  ohg  mren, wasrHon &MHH 0 Oper guiifldaraledmbal
BhHWTAHHMSH Hlewerla] Fnmid aIBHIOTS 2 66N

a. (A) wpp (R) sf Gweid (R), (A) &@ sflwrer elendasid

b. (A) wspw (R) sfl spemed (R), (A)dg sfwner afendsd £i6060

c. (A) afl syemmed (R) seum

d. (A) saup spemed (R) &

Consider statement and choose correct one

1. OCI cardholder has voting rights in India

2. OCI cardholder can buy any property including agriculture and plantation.
a. 1 only b.1 and 2 only c. 2 only d. None of above
Letteu(heuenpmie gFflwimen sHHeuensv CxHitey GFUILIe LD

1. OCI - 9l L 2 6lenaliaeEhdhd, BhHumaled arsghend o 6wl

2. OCI - gpgwnalsd CHTLLMmG6T, aleenblevd LOBBID CFTHHIHHET GUTHISHETLD
a. 1 B b. 1 wBmib 2 C. 2 b (Bd d. gasia|dedenev

Consider the following statements.

It is an immigration status permitting a foreign citizen of Indian origin to live
and work in the Republic of India indefinitely. This statement is attributed to
which type of citizenship?

a. Overseas Citizen of India Card Holder (OCI)

b. Person of Indian Origin (PIO)

c. Non-Resident Indian (NRI)

d. None of the above

LN6vT6M(HEUGTEUMBENMB  H6)6D B LD.

@hHw  eubgmeueienwdF  CFbsy @ OeuelBTL(hd  GWHT  AbhAHwmalsd
STevalenTWenpulens eumpajld Gauemev GFUIWIGID DIDILHHGD GLCWBB Hensv. B
abd aumd Gpuflenod@ CUTHHSHID.

a. @hIHU SELWTen S Ll masHHHBGD CalefbTl B @Ggseat (OCI).

b. @baw eubgraiefenwd gripgeut (P1O).

c. Glwflenn Beveurs @bgHwiT. (NRI).

d. GuBseasiL egla|Heoenev




